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Guess Paper – 2010
Class – X
Subject – Maths    

Time: 3 hrs                                                                                      Maximum Marks: 80
General Instructions:
(i) All questions are compulsory.
(ii) The question paper consists of 30 questions divided into four sections – A, B,C and D. 	Section A contains 10 questions of 1 marks each. Section B contains 5 questions of 2 marks each. Section C contains 10 questions of 3 marks each and Section D contains 5 questions of 6 marks each.
(iii) Use of calculators is not permitted.
SECTION – A
Q.1	Write two irrational numbers between 2 and 3
Q.2	Find the value of a & b if  m & n are the zeroes of ax2-5x+c, satisfy m + n = m x n = 10.
Q.3	If x = b is a solution of the quadratic equation x2 + 6x + 9 = 0, then find b.
Q.4	If three times the third term of an A.P. is equal to 4 times the fourth term, find the seventh term.

Q.5	If cot(A) = 7/8 , find the value of 
Q.6	The perimeter of sector of circle of radius 10.5 cm is 32 cm find its central angle.
Q.7	Cards each marked with one of the numbers 4,5,6,…..,20 are placed in a box and mixed thoroughly. One card is drawn at random from the box. Find the probability of getting an even prime number.
Q.8	Write the empirical relation between mean, mode and median.
Q.9	A vertical stick 30 cm long casts a shadow 20 cm on the ground. At the same time, a tower casts a shadow 40 cm long on the ground. Determine the height of the tower. 
Q.10	If PA and PB are two tangents from external point P to a circle with centre O and angle AOP = 550 find the angle APB.
Q.11	If the polynomial  6x4 + 8x3 + 17x2 + 21x + 7 is divided by another polynomial 3x2 + 4x + 1, the remainder comes to be (ax + b), find a and b


Q.12	If   , find value of     
Q.13	If  (3,5), (a,6) and (1/2,15/2) are collinear, then find the value of a.  
Q.14	In a family there are three children , find the probability that (a) there is one girl child (b) there is no male child (c) there is at least one male child.
OR
Find the probability of getting 53 Sunday and Monday in a leap year.
Q.15	In ΔABC having sides BC = 8 cm, AC = 10 cm and AB = 12 cm a circle is inscribed touching the sides AB at D, BC at E and AC at F. Find AD, BE and CF.

Q.16	Prove that 3 is irrational number.
			OR
	If  n be any positive integer, then by using Euclid’s division algorithm show that  n3 can be expressed in the form 9q or 9q + 1 or 9q + 8.
Q.17	Find the values of k and λ if zeroes of the polynomial x3 + kx2 + λ are 3, 6, -2. 
Q.18	Draw the graph for the lines x + y = 4 and x + y = 6. Hence find the area bounded by two lines in first quadrant.
Q.19	The angles of a triangle are in A.P. the least being half the greatest. Find the angles.
                                                                             OR
	Find the sum of all numbers from 1 to 1000 which are neither divisible by 2 nor by 5


Q.20	If  , prove that 
OR




	If , , . Show that 
Q.21	The two opposite vertices of a square are (-1, 2) and (3, 2). Find the coordinates of the other two vertices.
Q.22	PQRS is a rectangle formed by the points P(-1,-1), Q(-1,4), R(5,4) and S(5,-1). A, B, C and D are the mid-points of PQ, QR, RS, ST respectively. Is the quadrilateral ABCD square, rectangle or rhombus? Justify.
Q.23	In ∆ABC, XY││AC and XY divides triangular region ABC into two parts equal in area. Determine AX/AB. 
Q.24	Construct a triangle with sides 4 cm, 5 cm and 7 cm. Then construct a triangle similar to given triangle such that each side of the new triangle is 6/5 of given triangle.
Q.25	The figure shows cross section of a railway tunnel. The radius OA of the circular part is 2m. If angle AOB = 90o, calculate:						
	(i) the height of tunnel.
	(ii) the perimeter of cross section	(iii) the area of the cross section.
	[image: ]


Q.26	If the equation  has equal roots, prove that 
					OR

Solve the equation:   

Q.27	Two ships are sailing in the sea on the either side of the light house, the angles of depression of two ships as observed from the top of the light house are 60o and 45o respectively. If the distance between the ships is m, find the height of the light house.					      
 						OR
At a point on the level ground the angle of elevation of a vertical tower is found to be such that its tangent is 5/12. On walking 192 m towards the tower, the tangent of the angle of elevation is 3/4 Find the height of the tower. 
Q.28	Prove that in a triangle a line drawn parallel to one side of a triangle,  to intersect the other two sides in the distinct points, the other  two sides are divided in the same ratio. 	
Using the above, prove the following:    In given figure ABCD is a ││ gram and AB ││PQ Prove that
 MR ││BC
[image: ]
Q.29	The internal radii of the ends of bucket full of milk and of internal height 16 cm, are 14 cm and 7 cm. If this milk is poured into a hemispherical vessel, the vessel is completely filled. Find the radius of the hemispherical vessel. 
					OR                                                                                              
  A right triangle whose sides are 15 cm and 20 cm, is made to revolve about its hypotenuse. Find the volume of double cone so formed.
Q.30	If  the  median  of  the  distribution  below  is  28.5,  find  the  values  of x  and y. Also find mean and mode.      
	Class interval
	Frequency

	0 - 10
	5

	10 - 20
	x

	20 - 30
	20

	30 - 40
	15

	40 - 50
	y

	50 - 60
	5

	Total
	60
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